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cach quadratic relation,

express the relation in factored form
find the coordinates of the vertex
express (hc relation in vertex form

(‘(H’(‘h rthe ora r\h

= x x? = 6x + 95 (b)]=—2x2+12){“16
y=3 Lot x—4 (d) y=4x? — 12x+ 5
y———3x2—~12x (6) y=2x? — 4x— 30

5. For each quadratic relartion,

i.

ii.

ii.
iv.
(a)y=x2‘—6x+5

(c) y= —2x + 12x — 11

@= —i‘xl+2x+3

use partial factoring to find two points that are equidistant from
the axis of symmetry

find the coordinates of the vertex

express the relation in vercex form

sketch the graph

K(b)y——xz“/&x—‘ 11
\(d)y— —x! = 6x— 13
() y=2x2— 10x + 11

9. For each quadratic relacion,

oo’

i.

complete the square to express the relation in vertex form

/y\ graph che relation

(a))'~ P~ 4+ 7 b)) y=x*+8x+6
1
(C)y——z‘xZ—Zer-S (d) y = —x? + 6x— 11
&) ~3x2 — 18x + 13 (£) y=2x2+ 20x + 43
L+ ¢ - 1)z~ =40 U= 9) (- "0) (3)
=T =) =51 (= "p) (i~ '0) (q)
b= € ~ 1) = £ (p—~ ") (S '9) (S "0) (e) -
L=4§ + X7 =4Q) u—(t—r)z—/«'()
O + (€ + X~ = L (3) . Gy ¢ -

A @e="DE+ (5 — g =4 ()

i€ ~ );='<(P) U+ + 0g- =4«
E+dz -0z =4() T1T=-) 'y + XIrg— =4 (3)

—g(b+i’)=((q) 7"5(%—‘6’—"‘:

€+ 0z -1 =4 (e) -
4 ) (=51 - x5 — x0) = £ (p)
‘ Sl ~ sz -0z =4 N

. (S (1) (10 O gty =4
S+ (T - 0F- =L D EMED () (GG "1-)12 = e + 0F = 4 ()

b — A€ + 1)~ =K T+ —07-=d«
(o= '€= (€1~ "9=) (€1~ 0) (P) {20z -0 = xe- = L)

v— e =) =00 - NG - 1) =K (e) -



THREE FORMS TO GRAPH A QUADRATIC FUNCTION y = ax® +bx +c

Vertex Form

y — a(x - /7) + I. Complete the square if necessary, to
place equation into vertex form.
' 2. Plot vertex
where the vertex is at (h.k) 3. Use step pattern to plot additional points.
where a is the vertical stretch/compression moving from the vertex initially.
where +a indicates parabofa opens up (Remember: Go over | and up/down
where —a indicates parabola opens down by...)
Real Life Scenario ~ Find the maximum height of the ball.
Factored Form
V= a(x — S)(x — ZL) 1. Factor and set equation equal to zero.
2. Solve to find roots s and t. These are the
o x-intercepts.
where th_e 4eros are (s,0) and (1,0) ) 3. Find the axis of symmetry (halfway
where a is the vertical stretch/compression ,
S between s and t)
where +a indicates parabola opens up - - )
S 4. Substitute the value of the axis of
where —a indicates parabola opens down N L .
symmetry for x in the initial equation to

find the coordinates of the vertex.
Plot zeroes and vertex, connect and label.

L

Real Life Scenario — When did the ball hit the ground?

Partial Factored Form

y — CZX(X . S) +f I Factor'the first two terms by -
removing the common factor of ax
from the standard form of a quadratic

where t is the y co-ordinate of the two points cquation. A
Substitute the value of 0 for x to find

ou are finding at the same height

y & & the first point (0,1)

3. Substitute the value of s for x to find
the second point (s,t)

o

where the two points at the same height are

(0,t) and (s,1) : .
4. lIdentify the axis of symmetry
where a is the vertical stretch/compression 5 (Sha;fvyay beéwee? 0 a?dhs) < of
where +a indicates parabola opens up - Substitute lf cva ueho [the agxrs ot
where —a indicates parabola opens down symmetry for x In the initial equation
) to find the coordinates of the vertex.

6. Plot the two points and the vertex,
connect and label.

Real Life Scenario — What is the distance of the ball from the player if the height of the ball is 2m off the

ground?



